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() fo wa + fﬂ‘ =0

() Find the missing tem in the foliowing table |
X y (1) Ty * 2y, + 41y = 0
0 (v) None of these
1 3 (b) The order of the difference equal,,
2 8 Yne2 = et * Y =018
3 - (i) 1
4 B1 (i) 0
E xplain why the result differs from 33 = 27 (ui) 2
7. (8 Evaluate I*. .1 ,d' corrected to three ":} N.mﬂﬂfthese
(€) A<e*is equalto

€ | places
decima 0 (e 1)261

(b) Evaluate ﬁ"u + sinx) dx () (eX— 22
8 (8 Showthat (1) (e - 2)2 gx
() None of
Re(2+12 +Z°)l < 4 when Z} S 1. these
12
(b) Find the principal arguement Arg z when (d) The solution of d ?z _ *'2{- .
- ox f')yi"
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(Objective Type Questions) () 221,y 4 g, oy -
g (a) Whichof the following equation 1s parabolic ? (i) 2 = fx2 - V2]
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@ o (Mogx) = 0o

Lt
X = U)1s equal to
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(h) 2
() 0

(v) None of these

It 0 be the angle between the tangent and
radius veclor al any pomt on the curve f = f(g)
then sin o equal to

dr
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(iv) None of these

(g} The radss of curvature of the curve y = e at

the point when it crosses the y-axis 1s
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(h) It f(x) = f(2a - x) then Jﬂr(!}dﬂﬁequalrr,

0
o [12a - x)dx

a
(i) 2-"!1:]'(1:
0

(m) 2Iffx}dx
0

(v} None of these
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